Magnetism

* A scientist uses a loop of wire with 100
turns to cancel the Earth’s magnetic
field (0.7 gauss) for an experiment. If
the diameter of the loop is 0.50m, find
the required current L.
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Example: -

Two long, parallel, current-carrying wires are ke PR
separated by a distance d. Calculate the force

(magnitude and direction) on wire exerted by vt D TV
the other. Where is the field due to the two

wires equal to zero? I,

—-

2
What if the direction of I, is reversed? I

What if three long wires formed an equilateral triangle,
how would you calculate the force on one wire?
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